
© SFK Manufacturing, LLC                                    TA-1006   2/11/2022 

 
Installation Instructions 

For 

Oil Pan Skid Plate, TA-1006 
For 

1999-2006 Toyota Tundra & 2000-2007 Toyota Sequoia 
 

Thank you for purchasing your new Skid Row Offroad oil pan skid plate. It is 

designed to give you peace of mind while traversing even the toughest trails.  

Your skid plate package should come complete with the following parts:  

1. (1) Oil Pan Skid Plate 

2. (4) M8-1.25x35mm Hex Head Bolt 

3. (2) M8-1.25x50mm Hex Head Bolt 

4. (2) ½” Aluminum Spacers 

5. (4) 1/4” USS Flat Washers 

 

Step 1: Remove the factory front skid plate. It cannot be used with your new oil pan skid plate. If you are 

using a Skid Row Offroad front skid plate, remove the two bolts at the rear edge of the front skid plate. 

Step 2: Lift the new oil pan skid plate into place. If you are using a Skid Row Offroad front skid plate, 

place the leading edge of the oil pan skid plate above the rear edge of the front skid plate.  

Step 3: Insert two ½” spacers (one per side) between the front edge of the oil pan skid plate and the 

chassis cross-member and install two of the M8-1.25x35mm bolts that are included. Be sure to use the flat 

washers with these two bolts.  

Step 4: Install the two bolts at the rear of the skid plate. You can re-use the factory hardware or use two 

of the M8-1.25 bolts that are provided. 

 

NOTE: Depending upon the condition of your truck the threaded holes may need to be tapped to clean 

out the factory threads. The tap size is M8-1.25.  

 

Step 5: Tighten all four bolts and you’re ready to hit the trail! 

 

We hope you enjoy your new Skid Row Offroad oil pan skid plate!  

 

Sincerely, 

Sincerely, 

Your friends at Skid Row Offroad 
 

 

 
Skid Row Offroad 

100 Creek Road, Carlisle, PA 17013 
Phone 717-701-8315 

 
www.SkidRowOffroad.com  

 


